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QUESTION 1

A NetWorker customer has an environment with servers from multiple vendors. The customer requires a solution that
will allow recovery of a full server to different hardware in the event of failure. What can be added to the backup
environment? 

A. Deduplication node 

B. Data Protection Advisor 

C. HomeBase 

D. PowerSnap 

Correct Answer: C 

 

QUESTION 2

In an Oracle RMAN environment, where can the Recovery Catalog be stored? 

A. Within the backup software catalog 

B. Multiplexed with the backup data 

C. In a separate dedicated database 

D. In a dedicated flash recovery area 

Correct Answer: C 

 

QUESTION 3

Which type of backup should be used to create a backup copy offline without disrupting I/O operations on a production
volume? 

A. Cumulative backup 

B. Incremental backup 

C. Full backup 

D. Synthetic full backup 

Correct Answer: D 

 

QUESTION 4

Which function is performed by a SCSI initiator device? 
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A. Issue commands to a target device 

B. Switch orientations depending on the role it plays in an I/O operation 

C. Execute commands 

D. Serve requests 

Correct Answer: C 

 

QUESTION 5

What is a characteristic of RAID 6? 

A. Block-level striping with double distributed parity 

B. Block-level striping with distributed parity 

C. Block-level striping with dedicated parity disk 

D. Byte-level striping with dedicated parity disk 

Correct Answer: A 
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